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25| N | EW 3NN-1 50 2SN2 110 160 4 NS40 3 2
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23| s [Both| 2HN-2 200 4SXN4 | 790 990 14 NSO 5 A3
24 | W [None|]  5DN-1 50 5DXS5 | 550 600 12 NS100 | -4 -10
25| N | EW 2SN2 110 3NN-2 100 | 210 5 NS40 | 2 4
26 | E [Both| 3Ds3 110 4Ds4 130 20 1 EW20 | 4 -4
27| s [None] 2swa 170 3HE4 170 EW220 | 2 -2
28 | W | NS 3NE-1 50 3NW-1 50 EW230 | 7 7
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30 | E [None| 3DE-1 50 3HW-2 100 50 2 NS170 | -3 2
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21| N | NS 4HES 450 3NE6 490 40 1 EW340 -3 4
22 | E | EW 5CXS-1 100 3NE-3 300 400 9 NS40 -4 -6
23 | S |Both 4SN-1 100 3DN-1 100 NSO -3 3
24 | W |None] 5CXW-1 100 4HE-3 150 50 2 NS100 -2
25| N | EW 2NN-1 50 2SN2 110 160 4 NS40 -3 -2
26 | E |Both 2HS2 110 4DS-1 100 210 5 EW20 4 2
27 | S |None 4HW4 420 4HW4 420 EW220 -5 5
28 | W | NS 3NE3 400 3NW-1 50 450 10 EW230 -5 -7
29 | N |Both 3NS5 660 3NS4 630 30 1 NS650 1
30 | E |None 2SN-1 50 3CN3 110 160 4 NS170 -6 2
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23| S [Both| 3NE-1 100 3NW-1 100 NSO 3 -3
24 | W [None] 3cw3 110 4HE-1 50 160 4 NS100 | -5 2
25| N |EW| 3Ns-2 100 3NN-1 50 50 2 NS40 | -4 3
26 | E [Both| 3Ds4 130 4DS-1 100 | 230 6 EW20 | 4 2
27| S |None| 4HWa4 420 3HE4 170 250 6 EW220 | -5 -2
28 | W | NS 3NW3 400 3NW3 400 EW230 | -5 5
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21| N | NS 4HES 450 4HE6 480 30 1 EW340 -3 4
22| E | EW 5CXS-1 100 3SN-1 50 50 2 NS40 -4 3
23 | S |Both 2SN3 140 3NW3 600 740 12 NSO 4 12
24 | W |None 5DXS-1 100 4HXW-1 100 200 5 NS100 -5
25| N | EW 3SN3 140 1NS2 120 20 1 NS40 3 -2
26 | E |Both 4DS-1 100 4DS-1 100 EW20 -2 2
27 | S |None 4HW4 420 3sw4 170 250 6 EW220 -5 -2
28 | W | NS 3NW5 460 1NXE2 280 180 5 EW230 -6 2
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21| N | NS 3HE6 230 4HE-1 50 280 7 EW340 | 3 -9
22| E|Ew| 3cxsa | 570 5CXS6 | 650 80 2 NS40 | 11 12
23| s |Both P 3SN-1 100 | 100 3 NSO 3
24 | W |None|  4Ds4 130 5DXN5 | 550 420 9 NS100 | 1 -10
25| N | EW 2DN2 90 2SN2 110 20 1 NS40 | 2 2
26 | E |Both| 5Ds-2 200 2HS-2 200 EW20 | -5 5
27| S |None| 4HW-2 100 3CXN-2 300 | 400 9 EW220 | 8 2
28| W | Ns 3NE-1 50 3NE3 400 | 450 10 EW230 | 7 5
29 | N |Both| 3NN5 660 3NN4 630 30 1 NS650 1
30 | E |[None| 2HE2 110 3CN3 110 220 6 NS170 | -7 2
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Y[ 2mz2s [ NS | EW | 2922% | NS | EW | #12 | #5 [#12] #5 [#12] #5 || Mean | Ns | EW
21| N | NS 3NE6 490 4SE6 480 10 EW340 | -4 4
22| E | EW| 5CxS-1 100 5CXN-1 100 NS40 | -4 4
23| S |Both| 25S-1 100 3NW-1 100 200 5 NSO -3 -3
24 | W |None|  5DXN5 550 3HE3 140 | 690 12 NS100 | 10 6
25| N | EW 3NS-3 150 3NS3 400 550 1 NS40 | -5 -8
26 | E |Both| 5Ds-2 200 4DS-1 100 100 3 EW20 | -5 2
27| S |None|  2sw4 170 1NE2 120 50 2 EW220 | 2 -3
28 | W | NS 3NE3 400 3NE-1 50 450 10 EW230 | -5 7
29 | N |Both| 3NS5 660 4HS5 650 10 NS650
30 | E |None|  3NN3 400 2SN2 110 290 7 NS170 | 6 2
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* tyzx% | NS | EW | 24223 | NS | EW | #13 | #6 |#13] #6 [#13| #6 || Mean | NS EW
21 N NS 3NE6 490 3HEG6 230 260 6 EW340 -4 -3
22 | E | EW 5CXS6 650 5CXS5 550 100 3 NS40 12 -1
23 | S |(Both 3NXW-1 200 2DN-1 100 300 7 NSO 5 3
24 | W (None 3HE3 140 3HE3 140 NS100 -6 6
25| N | EW 2SN2 110 3NN-1 50 160 4 NS40 2 3
26 | E |Both 3DS4 130 2HS2 110 20 1 EW20 4 -4
27 | S [None 2SW4 170 2SW4 170 EW220 2 -2
28 | W | NS 3NE3 400 3NE3 400 EW230 -5 5
29 | N (Both 3NS5 660 3NS5 660 NS650
30 | E [None 3CN3 110 3NN3 400 290 7 NS170 -2 -6
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22| E |EW| 4HWS5 650 4HW5 650 NS40 | -12 12
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24 | W [None|] 5DXS5 | 550 5DN-1 50 | 600 12 NS100 | 10 4
25| N |EW| 3NN-2 100 2SN2 110 210 5 NS40 | -4 -2
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